
CHAPTER 6

CODING 

THEORY























Exercise - Solution

1000110 = 3

0111001 = 4

11110001 = 5

10101010 = 4











Exercise - Solution

0100 – error 

1 is odd 

Should be 0101

1100 – no error

0010 – error

1 is odd 

Should be 0011

1001 – no error



































Exercise - Solution

|f(00)⊕ f(01)|= |00000 ⊕ 01110|=|01110|= 3

|f(00)⊕ f(10)|= |00000 ⊕ 10101|=|10101|= 3

|f(00)⊕ f(11)|= |00000 ⊕ 11011|=|11011|= 4

|f(01)⊕ f(10)|= |01110 ⊕ 10101|=|11011|= 4

|f(01)⊕ f(11)|= |01110 ⊕ 11011|=|10101|= 3

|f(10)⊕ f(11)|= |10101 ⊕ 11011|=|01110|= 3

Hamming distance: 3,3,4,4,3,3

Minimum distance = 3

3 ≥ k + 1 so k ≤ 2

The code can detect 2 errors
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Exercise - Solution

We must show that the set of all code words

N={0000000, 0101000, 1000101, 1101101, 0010110, 0111110, 
1010011, 1111011}

is a subgroup of B7

Let
a = 0000000

b = 0101000

c = 1000101

d = 1101101

e = 0010110

f = 0111110

g = 1010011

h = 1111011



Exercise - Solution

a b c d e f g h
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fH(10)= 10101
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